
9

PARTS NAME QTYNo. PARTS CODE OTHER
1
1
3
2
2
2
2
1
6
4
4
1
1
3
2
2
1
1
2
2
2
4
2
1
1
1
1
2
2

12
1

Pump case
Mechanical seal
Plug 25A SET
Cover bolt-S
Cover bolt-L
Hexagon head screw with captive spring washer M12x45
Hexagon head screw with captive spring washer M12x50
Hookplate
Hexagon socket head cap screw with spring washer M10x25
Hexagon socket head cap screw with flange M10x1.25x50
Aluminum washer φ10
GX270UT2 engine
Impeller
Impeller adjustment washer T0.3
Hexagon head screw with captive spring washer M10x40
Hexagon nut M10
Separate head
Baffle
Hexagon socket head cap screw with flange M6x16
Hexagon socket head cap screw M6x8
Hexagon nut M6
Washer φ6
Aluminum washer φ6
Plug 32A SET
Head packing
Flange packing
Check valve
Discharge flange NPT3
Discharge flange G3
Hexagon head screw with captive spring washer M12x35
Front cover

1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27

28

29
30

0121439
0115678
0118079
0121843
0121844
743119083
743119084
0121454
734614090
0121925
0121915
N/A
0121438
0110081
743119067
827419010
0121437
0121457
734705047
734505276
827405006
846205006
0121914
0118450
0121450
0110584
0121574
0115837
0115838
743119063
0121440

BAA
BAB

PARTS NAME QTYNo. PARTS CODE OTHER
2
4
1
3
3
1
1
4
1
1
4
4
1
1
1
1
2
2
2
3
1
1
1
1
1

Handle
Hexagon socket head cap screw M8x35
Volute case
Hexagon socket head cap screw with flange M8x25
Aluminum washer φ8
O-ring G283x3.55
O-ring G295x5.3
Knob
Base ASSY
Label, Side panel
Rubber cushion
Hexagon nut with spring lock washer M8
Multi tool
Wing bolt M8x15
Name plate KTH-80S-BAA
Name plate KTH-80S-BAB
Coupling G3
Nipple
Coupling packing
Hose band 
Strainer nipple
Label, CAUTION
Label, CE mark
Label, EU noise 105
EC Declaration of conformity

31
32
33
34
35
36
37
38
39
40
41
42
43
44

45

46
47
48
49
50
51
52
53

0121453
734520070
0121441
734705066
0116493
0121917
0121916
0121449
0128438
0121435
0116172
842319008
0121918
741305153
0121927
0121445
0110300
0111931
0110100
940407090
0110978
0114713
0114718
0116283
0114820

BAA
BAB
BAB only
BAB only
BAB only
BAB only
BAB only
BAB only
BAB only
BAB only
BAB only

KTH-80S

E
N
G

S
H

E
S

A
Ñ
O
L

F
R
A

A
I
S

A
Ñ
O
L

F

Ç
A
I
S

E
N
G
L
I
S
H

Operating Instructions & Parts Manual KTH-S  SERIES


